TF

BF

zF

FBR/NEEFEBAFERE YR -2
~Xyh1
B K4 FE Hix£ g
HMH A | 4 [T AR EdBES 15.70
2| AL | 3 [T aARELbLS 14.65
g2 BE | 4 iRk~ b7 T T 14.25
A EE | 5 [BAAE Y = = T KRB 12.40
5l Fig | 5 [ U—L RKIEERY 57 11.75
6lILIM H | 4 [BZAEEY o =T (KRB 11.55
EA £ 4 SRR~y N7 T T 11.35
sl FHJh | 2 [Bkgfk~y b7 57 11.00
9ld EHH | 5 |[HhiAREmIsR 10.50
10078 & 6 [t r R a=TEKEYFTT 10.35
115EF A& | 3 kg~ v T 7 9.65
12[dFHE4L | 5 [T RAEEI LS 9.25
13K B | 4 [~y 7T 9.05
4ABRHYE | b [~y N7 F7 8.45
HE 3 Rt r B a=TEEY 7 8.15
16/NIl e | 4 [~y 757 7.85
1708 Eme | 5 [Yi'sthk#r F 7 7.80
18[aA  FEpl | 3 [Yi'sthfr F 7 7.75
195 wiE | 6 [ U— FKIKEY 57 7.40
20\ B | 3 RV =TIRES T 7.30
k2
B K% FE Hix£ g
e FhE | 4 By 2 =T AFR—Y 757 12.30
26K b 4 BT hAKREIGS 11.80
s M | 2 |3 AEEL SR 11.05
4K% 5 3 I AAKEL LS 10.25
5|0t e | 2 (bR AKRELOR 10.05
6l Mt | 4 iR =T AR—V I FT 9.55
ER 4 |Yi'stK#ar 7 9.45
8|k A 3 Wiy a=T7AR=—2F57 9.30
9EWK X | 2 Rt BV a=TKEs I 9.05
10(dbii A | 4 [ U— L FKIKEY 77 9.00
k2
B K% FE HiA£ B8R
1N T | 4 S 2Egrs 77 11.60
Q0ER)IEE | 4 Mk kgs 77 11.25
3| Ha= | 6 [ ks 77 11.00
ARHE A | 2 Bk~ b2 T T 10.20
S|l=%x K 2 |~y o577 10.10
6lpptEAI ) | 5 (B 2 =T AKR—=20F 7 10.00
et AE | 4 BEBEY =T IRBEE 9.95
gl Han [ 3 |[HIAAKEmIsS 9.90
ot ik | 2 |HdeAERL 558 9.80
10 ﬁﬁﬁﬂ & | 5 |ikR~y b7 T 9.75
1R A8 | 6 |BUEE Y o = 7 IR 9.70
12[fig 41 | 2 [ 7A@ bR 9.60
13| FE2 HEg | 4 [ 72AEE< bR 9.55
14|53 A [ 3 [BglEk~y b T 7 9.50
1478y gl 6 BRI 2Ky 77 9.50
166 #h [ 4 BRIk~ F 2T 7 9.45
1644 2 | 5 Rt BV a=TKBRI 77 9.45
18/ AR | 4 BiEYa=TAR—=Y2I7 77 9.40
19/ AFi | 6 Rt r BV a=TKRs 77 9.25
20135k EME | 4 [YisitkiEo T T 9.20




